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KS1 – 2009 Paper 1
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KS1 – 2009 Paper 2
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KS1 – 2016 Paper - Arithmetic (Second)
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KS1 – 2016 Paper – Reasoning (Second)
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KS1 – 2018 Paper – Reasoning
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Write the answer.

1000 — |43 =
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Look at the numbers in this addition.

Use the same

14
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Work out the difference between 147 and 205

w7 205

Write the answer in the box.
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There are 265 children at Hill School.
102 children have a packed lunch.
27 children go home for lunch.

The other children have a school lunch.

How many children have a school lunch?

Show how you work it out in the box.
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12 children are on a bus.
8 children get off the bus.

Then & more children get off the bus.

Tick (v/) the number of children left on the bus.

8
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Write the answer.

248 — 35 =
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20

dIA= A
)
1000 pieces

There are 1000 pieces in a puzzle
12 pieces go missing.

How many pieces are left?

pieces
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24

Write the answer.

348 — 99 =

10
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11

63-10-10=

1 mark
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There are 20 balloons.

7 balloons fly away.

How many balloons are left?
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Amy has 21 counters altogether.

She has 14 counters in one hand.

How many counters does she have in the other hand?
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There are 40 crayons in a box.
Sam takes 17 crayons.
Kemi takes 10 crayons.

How many crayons are left?
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Ben has 75 cherries.

He eats 28 of them.

How many cherries does he have left?
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€ There are 55 cokes.
20 boys and 19 girls each take a cake.

How many cakes are left?
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The strawberry weighs 24 grams.

What does the tomato weigh?

i
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Write two numbers that are greater than 20 to make this
subtraction correct.

[ ]-[ -2 @)
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@) There are 100g of chocolate chips i the bag.
Sita uses 25g.

Ben uses 35g.

How many grams of chocolate chips are left
in the bag?
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Ben has 63 beads.
He gives 37 beads away.

How many beads does Ben have left?
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Look at these number cards.

20”40 50| (70| |90

Choose three of the number cards to make this
subtraction correct.
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35

This jug has water in it

Ravi pours 150 mil

res of water out of this jug.

How much water will be left in the jug?

millilitres
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27 | Write the missing number in the box.

+ 57 =100





image3.png
10 | Write the missing number.

+ 8 = 68





image4.png
Write the answer.

176 - 49 =
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12 | Look at the numbers.

5 7 16 8

Use two of these numbers to make this correct.
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less than 40





